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; 100kN/m#E#Z25| 1.00 | 0.00 ~ 0.10| 101.40 |3mEZ5 -~ — — — | 100kN/mM%E#BZ% | 1.00 | 1065 ~ 1090\ 101.40 |3mZEBZ3 -~ — — —
ZzhnLst 1.00 1 0.10 ~ 7.88 100.00 | st | 0.00 ~ 7.88| 1.84 9.84 zhst 1.00 | 6.00 ~ 1065 100.00 | NS | 5,00 ~ 1090 1.84 9.84
2 100kN/m#% 8z 5| 1.00 | 0.00 ~ 0.81 112.09 |3mZEiBZ% - ~ — — — | 100kN/m%#8Z25| 1.00 | 1056 ~ 1290 112.09 |3mZEiBZ% -~ — — —
ZzhnLst 1.00 1 0.81 ~ 859 100.00 | #nst | 0.00 ~ 869|223 11.93 zhst 1.00 | 6.00 ~ 1056 100.00 | LS | .00 ~ 1290 2.23 11.93
3 100kN/m% 8z 5| 1.00 | 0.00 ~ 0.81 112.09 |3mZEiBZ% - ~ — — — | 100kN/m#%#8Z25| 1.00 | 1056 ~ 1290 112.09 |3mZEiBZ5 -~ — — —
ZzhnLst 1.00 1 0.81 ~ 859 100.00 | #nst | 0.00 ~ 869|223 11.93 zhst 1.00 | 6.00 ~ 1056 100.00 | LS | .00 ~ 1290 2.23 11.93
4 100kN/m##8%2%| 1.00 | 0.00 ~ 0.69 110.27 |3m%F{BZ % -~ — — — | 100kN/mM%#82% | 1.00 | 1092 ~ 1290 110.27 |3mZEBZ 5 -~ — — —
zhLst 1.00 1 0.69 ~ 847 100.00 | #nst | 0.00 ~ 847|233 12.48 zhst 1.00 | 6.00 ~ 1092 100.00 | LS | 5,00 ~ 1290 2.33 12.48
5 100kN/m##25| 1.00 | 0.00 ~ 1.04 115.58 |3mZiBZ% - ~ — — — | 100kN/m#%#825| 1.00 | 11.65 ~ 1490 115.58 |3mE#BZ5 -~ — — —
zhLst 1.00 | 1.04 ~ 882 100.00 | #nst | 0.00 ~ 882|243 12.99 zhst 1.00 | .00 ~ 1155 100.00 | LS | 5,00 ~ 14.90| 2.43 12.99
P 100kN/m##8%%| 1.00 | 0.00 ~ 0.07 101.01 |3m%F#BZ % -~ — — — | 100kN/mM%#82% | 1.00 | 1085 ~ 1103 101.01 |3m%EEZ 5 - -~ — — —
zhLst 1.00 | 007 ~ 7.85 100.00 | #hst | 0.00 ~ 785|232 12.41 ZFh st 1.00 | .00 ~ 1085 100.00 | FnLSY | 5.00 ~ 11.03] 2.32 12,41
- 100kN/m%E#BZ % — - ~ — —|3mZEEBZD - ~ — — — | 100kN/mM%#B 2% — - ~ — — |3mEZ B -~ — — —
zhLst 1.00 | 0.00 ~ 6.48 81.65 | =nst | 0.00 ~ 648|267 14.27 zhst 1.00 | 6.00 ~ 1056 81.65 | TN | 6,00 ~ 1056 2.67 14.27
s 100kN/m%E#BZ % — - ~ — —|3mZEEBZD - ~ — — — | 100kN/mM%#BZ % — - ~ — —|3mEBZ B -~ — — —
Zhst 1.00 | 0.00 ~ 648 81.65 | TS | 0.00 ~ 6.48)| 216 11.56 Zh st 1.00 | 600 ~ 1056 81.65 | #hst | 500 ~ 1056|216 11.56
9 100kN/m%E#BZ % — - ~ — — |3mZEEBZ D - ~ — — — | 100kN/mM%E#B 2% — -~ — —|3mEBZ B -~ — — —
Zhst 1.00 | 0.00 ~ 7.43 94.80 | TS | 0.00 ~ 743|258 12.75 Zh st 1.00 | 600 ~ 1030 94.80 | #hst | 500 ~ 1030 2.38 12.75
10 100kN/m#%#825| 1.00 | 0.00 ~ 0.15| 10221 |3m%EiBZ3 - ~ — — — | 100kN/MiZE#BZ 5| 1.00 | 11.3¢ ~ 11.76| 102.21 |3m&E#EZ5 -~ — — —
Zhst 1.00 015 ~ 7.94| 100.00| Ths |0.00 ~ 794|240 12.84 Zh st 1.00 | 6.00 ~ 1134 100.00 | ZhRS | 500 ~ 11.76| 2.40 12.84
17 100kN/m%#BZ % — - ~ — — |3mZEEBZ D - ~ — — — | 100kN/mM%E#B 2% — -~ — —|3mEBZ B -~ — — —
Zh st 1.00 | 0.00 ~ 6.84 86.58 | TS | 0.00 ~ 6.84 | 2.86 15.30 Zh st 1.00 | 600 ~ 1490 86.58 | TSt | 500 ~ 1490 2.86 15.30
12 100kN/m%#BZ % — - ~ — — |3mZEEBZ D - ~ — — — | 100kN/mM%E#B 2% — -~ — —|3mEBZ B -~ — — —
Zh st 1.00 | 0.00 ~ 5.50 68.60 | =hst | 0.00 ~ 0.00| 1.67 8.91 Zh st 1.00]500 ~ 6.10 68.60 | Ths | 500 ~ 610 1.67 8.91
13 100kN/mM%#BZ % — - ~ — —|3mZEEBZ 5 - ~ — — — | 100kN/mMZE#B 2% — -~ — —|3mEBZ B -~ — — —
ZThst — — ~ — —| =hst — ~ — — — ZFh st — — ~ — —| Fhst — ~ — — —
100kN/mM%#8Z % ~ ImEHEAD ~ 100kN/m%Z#8Z% % ~ ImEBZD ~
ZThst ~ Zzh st ~ ZFh st ~ zh st ~
100kN/mM%#BZ % ~ ImEHEZD ~ 100kN/m%Z#8Z% % ~ ImEBZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~




